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Methods of Analysis
Choose the letter of the best answer.

1.
A company deciding whether to adopt a new technology conducts a risk-benefit analysis. Which of the following outcomes of the analysis would most likely convince the company to adopt the technology?

A.
The benefits outweigh the risks.

B.
The risks outweigh the benefits.

C.
Adopting the technology leads to risks.

D.
Adopting the technology leads to benefits. 

2.
A person shopping for a new cell phone decides to buy the model with a longer battery life but with less data storage. What method did the person use to pick the cell phone? 

A.
a trade-off

B.
a life-cycle analysis

C.
a technological breakthrough

D.
an unexpected unfavorable effect

3.
For which purpose is a life-cycle analysis most effective? 

A.
to decide whether to use a risk-benefit analysis

B.
to decide whether a technology should be tested 

C.
to analyze the features of a product compared with other products 

D.
to figure out the total cost of producing, using, and disposing of technology.

4.
A fire-proof robot prototype is being tested when it short circuits and, to the surprise of the researchers, catches fire. What kind of effect has just happened?

A.
an expected favorable effect

B.
an unexpected favorable effect

C.
an expected unfavorable effect 

D.
an unexpected unfavorable effect

5.
Below is a table showing backpacks and their features.
	
	Comfortable Straps
	Weather-proof
	Stylish
	TOTAL

	Messenger bag
	1
	0
	1
	2

	Single-strap backpack
	1
	1
	1
	3

	Double-strap backpack
	1
	1
	0
	2


What is the name for this type of table? 

A.
a trade-off 

B.
a prototype 

C.
a Pugh chart 

D.
a risk-benefit analysis
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